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Question Bank

1. Find the mean deviation about the mean for

the following data:

4,7,8,9,10,12,13,17.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AD1qwC1IeQkm

° Watch Video Solution

2. Find the mean deviation about the mean for
the following data

38,70,48,40,42,55,63,46,54,77

° Watch Video Solution

3. Find the mean deviation about the median
for the following data:

13,17,16,14,11,13,10,16,11,18,12,17.

| e |


https://dl.doubtnut.com/l/_AD1qwC1IeQkm
https://dl.doubtnut.com/l/_ZADUfNuQobbk
https://dl.doubtnut.com/l/_WvFD6CqfabUg

& Watch Video Solution I

4. Find the mean deviation about the median
for the following data:

36,72,46,42,60,45,53,46,51,49

° Watch Video Solution

5. Find the mean deviation about the mean for

the following data:

= 5 | 10| 15| 20| 25

f ' 7 4 6 3 5



https://dl.doubtnut.com/l/_WvFD6CqfabUg
https://dl.doubtnut.com/l/_VUyDXUV08Lx9
https://dl.doubtnut.com/l/_ITBQBKTfB5OP

° Watch Video Solution

6. Find the mean deviation about the mean for

the following data:

"3 10 | 30 | s0 | 70 | 90

f.42428168
1

o Watch Video Solution

7. Find the mean deviation about the median

for the following data:


https://dl.doubtnut.com/l/_ITBQBKTfB5OP
https://dl.doubtnut.com/l/_wit45xIXoJMV
https://dl.doubtnut.com/l/_VdHsIGM6gyTU

° Watch Video Solution

8. Find the mean deviation about the median

for the following data:

x, 15 21 27 30 35

S 3 5 6 7 8

° Watch Video Solution



https://dl.doubtnut.com/l/_VdHsIGM6gyTU
https://dl.doubtnut.com/l/_8eEoiPFyphEy

9. Find the mean deviation about the mean for

the following data

Income per 0-100 100-200 200-300 300-400 400-500 500-600 600-700 700-800
day: )

Number of 4 8 9 10 7 5 4 3
persons: -

° Watch Video Solution

10. Find the mean deviation about the mean

for the following data:

) 95-105 |105-115|115-125|125-135|135-145(145-155
Helght
Number 9 13 26 30 12 10
of Boys

° Watch Video Solution



https://dl.doubtnut.com/l/_tRmjwTxUgCOf
https://dl.doubtnut.com/l/_mw54EVid6u7l

11. Find the mean deviation about the median

for the following data:

0-10 | 10-20, | 20-30 | 30-40 | 40-50 | 50-60
Marks

Number
of Girls

o Watch Video Solution

12. Find the mean deviation about the median

for the following data:

- 16-20 | 21-25 | 26-30 | 3135 | 3640 | 4145 46-50 51-55
5 6 12 14 26 12
Number e v



https://dl.doubtnut.com/l/_mw54EVid6u7l
https://dl.doubtnut.com/l/_Rp5QtZbPATGu
https://dl.doubtnut.com/l/_AXdrIapWkaeD

° Watch Video Solution

13. Prove that the standard deviation from two
values z; and x5 of a variable x is equal to half

their differences

° Watch Video Solution

14. Calculate S.D. Of the following numbers

9,7,5,11,1,5,7,3

o Watch Video Solution



https://dl.doubtnut.com/l/_AXdrIapWkaeD
https://dl.doubtnut.com/l/_zoUPvFzmPZAN
https://dl.doubtnut.com/l/_53uIkYfblpVz

15. A student obtained the mean and standard
deviation of 100 observations as 40 and 5.1
respectively . It was later found that one
observation was wrongly copied as 50, the
correct figure being 40. Find the correct mean

and S.D.

o Watch Video Solution

16. Find the standard deviation for the

following distribution :


https://dl.doubtnut.com/l/_53uIkYfblpVz
https://dl.doubtnut.com/l/_Lm2Jlbm4Uzwq
https://dl.doubtnut.com/l/_McGcreEjdrA7

x 4.5 14.5 24.5 345 4.5 54.5 64.5

o Watch Video Solution

17. Find the standard deviation from the

following frequency distribution:

e mT m s = s e e wa c ATIIAES A Iaa AL A CAELETE Liaj e N{MAAIE ] S LA

Weight (kgy 44-46 46-48 48-50 50-52 52-54
No, of persons 3 24 27 21 = lffitls

o Watch Video Solution



https://dl.doubtnut.com/l/_McGcreEjdrA7
https://dl.doubtnut.com/l/_YTyjT47gRIj6

18. Find the mean and variance for the

following data 6,7,10,12,13,4,8,12

o Watch Video Solution

19. Find the mean and variance of first n

natural numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_wGB0YGVzLrUe
https://dl.doubtnut.com/l/_sk6uXp3szUOA

20. Find the mean and variance of the first 10

multiples of 3.

o Watch Video Solution

21. Find the mean and variance of following

data:

0l o | (bR oni e | [ as ezl ] 22 ] e

5

° Watch Video Solution



https://dl.doubtnut.com/l/_R5OyvnN1dkXH
https://dl.doubtnut.com/l/_t7wXztfNpjW5
https://dl.doubtnut.com/l/_CKtxt4WxEsSY

22. Find the mean and variance of following

data:

x, | 92 | 93 | 971 | 9 | 102 | 104 | 109
£ 3 2 3 2 si (11 st

o Watch Video Solution

23. Find the mean and variance of following

data:

Classes: 0-30 30—é0 60-90_| 90-120 [120-150|150-180| 180-210]

Freequencies: 2 3 | 5 10 3 5 2
|

o Watch Video Solution



https://dl.doubtnut.com/l/_CKtxt4WxEsSY
https://dl.doubtnut.com/l/_pkp1xRlM9tCO
https://dl.doubtnut.com/l/_mfZIVWg2Umdx

24. Find the mean and variance of following

data:
Classes: 0-10 | 10-20 20-30 30-40 40-50
Frequencies: 5 8 15 16 6

o Watch Video Solution

25. From the data given below which group is

more variable A or B?

Marks 11020 | 2030 | 3040 | 40-50 | 50-60 | 60-70-| 70-80
GroupA 9.1 17 | 32 33 40 10 9
Group B 10 20 30 25 43 | 15 | 7

° Watch Video Solution



https://dl.doubtnut.com/l/_mfZIVWg2Umdx
https://dl.doubtnut.com/l/_XX79pTNHclV9
https://dl.doubtnut.com/l/_6EtDBbMI69Od

26. From the prices of shares x and y below

find out which is more stable in value:

y | 108 | 107 | 105 | 105 | 106 | 107 | 104 | 103 | 104 | 101

o Watch Video Solution

27. An analysis of monthly wages paid to
workers in two firms A and B belonging to

same industry gives the following results :

| Firm A Firm 8
‘No.of wage earners: 586 65438
Mean monthly wages: Rs. 5253 Rs.5253
Variance of the distribution 100 121

of wages:


https://dl.doubtnut.com/l/_6EtDBbMI69Od
https://dl.doubtnut.com/l/_qiNlsNqqPfl0

which firm A or B, pays larger amount as

monthly wages.

° Watch Video Solution

28. An analysis of monthly wages paid to
workers in two firm A and B belonging to same

industry gives the following results :

| FirmA Firm B
‘No.of wage earners: 586 6548
Mean monthly wages: Rs. 5253 Rs.5253
Variance of the distribution 100 121

of wages:

which firm A or B shows greater variability in

individual wages?



https://dl.doubtnut.com/l/_qiNlsNqqPfl0
https://dl.doubtnut.com/l/_v4deHjNK8aSo

[ ° Watch Video Solution

29. The following is the record of goals scored

by team A in a football session

No.of goals scored: 0 . 1 2 3 4
No.of maiches: 1 9 7 5 3

For the team B , mean number of goals scored per match was 2 with a standard deviation of
1.25 goals. Find which team may be considered more consistent?

° Watch Video Solution

30. The sum and sum of squares
corresponding to length x(incm) and weight y

(in gm) of 50 plant products are given below :


https://dl.doubtnut.com/l/_v4deHjNK8aSo
https://dl.doubtnut.com/l/_Vj8ym65YRDzg
https://dl.doubtnut.com/l/_qV5djh6Jbt6H

50 a0

T xi=212, X xi’= 0028
i=1 i=1

50 . 50

T yi=26l, Xyi’= 14576
im] . i=1

Which is more varying the length or weight?

o Watch Video Solution

31. The scores of a batsman in 10 matches are
as follows 38,70,48,34,42,55,63,46,54,44 Find

the arithmetic mean of the scores

o Watch Video Solution



https://dl.doubtnut.com/l/_qV5djh6Jbt6H
https://dl.doubtnut.com/l/_3hAcDDzAmXQn

32. The scores of a batsman in 10 matches are
as follows 38,70,48,34,42,55,63,46,54,44

Calculate the variance.

o Watch Video Solution

33. The scores of a batsman in 10 matches are
as follows 38,70,48,34,42,55,63,46,54,44 . find

standard deviation.

o Watch Video Solution



https://dl.doubtnut.com/l/_xpkbY6ILUtOo
https://dl.doubtnut.com/l/_r1siFO5yKdPx
https://dl.doubtnut.com/l/_xxxNzynKGvq1

34. The mean and variance of 8 observations
are 9 and 925 respectively. Suppose
6,7,10,12,12,and 13 are the first 6 observations.
let a and b be the remaining two

observations. Find the value of a+b.

o Watch Video Solution

35. The mean and variance of 8 observations
are 9 and 925 respectively. Suppose

6,7,10,12,12,and 13 are the first 6 observations.


https://dl.doubtnut.com/l/_xxxNzynKGvq1
https://dl.doubtnut.com/l/_IQAJsJmMVL4o

Let a and b be the remaining two observations

Find the value of a® + b?

° Watch Video Solution

36. The mean and variance of 8 observations
are 9 and 925 respectively. Suppose
6,7,10,12,12,and 13 are the first 6 observations.
let a and b be the remaining two
observations. Find the remaining two

observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_IQAJsJmMVL4o
https://dl.doubtnut.com/l/_YBJOWkxUhGOd

37.Suppose that mean and standard deviation
of 6 observations are 8 and 4 respectively . Let
each observation be multiplied by 3. Find the

new mean of the resulting observations

o Watch Video Solution

38. Suppose that mean and standard deviation
of 6 observations are 8 and 4 respectively . Let

each observation be multiplied by 3 Find the


https://dl.doubtnut.com/l/_YBJOWkxUhGOd
https://dl.doubtnut.com/l/_sKsWl3SDwC1C
https://dl.doubtnut.com/l/_nT7VjB9zcOkj

standard  deviation of the resulting
observations.

° Watch Video Solution

39. Find the AM. of the numbers

31,35,29,63,55,72,37,

o Watch Video Solution

40. Determine the median of the following

data


https://dl.doubtnut.com/l/_nT7VjB9zcOkj
https://dl.doubtnut.com/l/_03fuzCPBqMrL
https://dl.doubtnut.com/l/_WQXO6XRBWw9o

Value : 10 11 12 13 14-
Frequency: 3 12 15 12 3

o Watch Video Solution

41. Consider the following data

Class : 05 5-10 10-15 15-20 20-25 25-30
Frequency : 8 6 12 13 11 10

calculate the mean of the above data

° Watch Video Solution



https://dl.doubtnut.com/l/_WQXO6XRBWw9o
https://dl.doubtnut.com/l/_VCRyWv3v6iG1

42. The scores of batsman A are 40

,70,52,34,42 55,63,46,54,44 find their mean.

o Watch Video Solution

43. The scores of batsman A are 40

,70,52,34,42 55,63,46,54,44 find their median,

o Watch Video Solution



https://dl.doubtnut.com/l/_ehOqn5fQKNq9
https://dl.doubtnut.com/l/_4Wfl8XR7OWT1

44, The scores of batsman A are 40

,70,52,34,42 55,63,46,54,44 Find their variance.

° Watch Video Solution

45, The scores of batsman A are 40
,70,52,34,42 55,63,46,54,44 find the standard

deviation.

° Watch Video Solution



https://dl.doubtnut.com/l/_hBOMxcLUrEsb
https://dl.doubtnut.com/l/_L9wxFMULTwha

46. Given the following data

x:6 10 14 18 24 28 30
f:l - T 12 2 ) 3

find the mean of the given data.

o Watch Video Solution

47. Given the following data

x:6 10 14 18 24 28 30
f:l ! 7 12 B g 3

find the standard deviation of the given

frequency distribution.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_jMzpeLerJvtS
https://dl.doubtnut.com/l/_GEYFN78SahQV

48. Consider the following grouped frequency

distribution
Class : 0-10 10-20 20-30 30-40 40-50

Frequency : 19 24 31 15 11

find the mean of the given data

o Watch Video Solution

49, Consider the following grouped frequency

distribution


https://dl.doubtnut.com/l/_GEYFN78SahQV
https://dl.doubtnut.com/l/_Rszdfrn27X7e
https://dl.doubtnut.com/l/_PtHnbPCkpGtn

Class : 0-10 10-20 20-30 3040 40-30
Frequency : 19 24 31 15 11 find the

variance of the given data.

o Watch Video Solution

50. Consider the following grouped frequency

distribution
Class : 0-10 10-20 20-30 30-40 40-50
Frequency : 19 24 31 15 11 find the

standard deviation of the given data.

o Watch Video Solution



https://dl.doubtnut.com/l/_PtHnbPCkpGtn
https://dl.doubtnut.com/l/_DQESJvRyuCbT
https://dl.doubtnut.com/l/_U49X3qku25xJ

51. Consider the following grouped frequency

distribution
Class : 0-10 1020 20-30 30490 40-50
Frequency : 19 24 31 15 11

find the C.V. of the given data.

o Watch Video Solution

52. If k is a negative constant , what is the

relation between o, and o,

° View Text Solution



https://dl.doubtnut.com/l/_U49X3qku25xJ
https://dl.doubtnut.com/l/_loaTtJv9vFm3
https://dl.doubtnut.com/l/_pGIJPyIOUApC

53. The mean and variance of 8 observations
are 9 and 925 respectively. Suppose
6,7,10,12,12,and 13 are the first 6 observations.
let a and b be the remaining two
observations. Find the remaining two

observations.

o Watch Video Solution

54. The mean and variance of 7 observations

are 8 and 16 respectively . If five of the


https://dl.doubtnut.com/l/_pGIJPyIOUApC
https://dl.doubtnut.com/l/_6LSYxEig5GNj

observations are 2,4,10,12,14 find the remaining

two observations.

° Watch Video Solution

55. Suppose that mean and standard deviation
of 6 observations are 8 and 4 respectively . Let
each observation be multiplied by 3 Find the
standard  deviation of the resulting

observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_6LSYxEig5GNj
https://dl.doubtnut.com/l/_PoMivZNJf7MD
https://dl.doubtnut.com/l/_xbGpqxkkf3Ce

56. Given that Z Is the mean and o2 is the
variance of n observations
L1y Loy L3y e vereeeee... Ly prove that the
mean and variance of the observations
2

axi, ATs, AL3, « - .. .....ax, are aZ and a’c

respectively. (a # 0)

o Watch Video Solution

57. The mean and S.D. of 20 observations are
found to be 10 and 2 respectively . On

rechecking it was found that an observation 8


https://dl.doubtnut.com/l/_xbGpqxkkf3Ce
https://dl.doubtnut.com/l/_r9xhA130EX1W

was incorrect. Calculate the correct mean and
standard deviation in each of the following

cases. If wrong item is omitted.

o Watch Video Solution

58. The mean and S.D. of 20 observations are
found to be 10 and 2 respectively . On
rechecking it was found that an observation 8
was incorrect. Calculate the correct mean and
standard deviation in each of the following

cases.if it is replaced by 12.

| e |


https://dl.doubtnut.com/l/_r9xhA130EX1W
https://dl.doubtnut.com/l/_Ak3m6QBJc6BZ

& Wwatch Video Solution I

59. The mean and S.D. of marks obtained by 50
students of a class in three subjects

mathematics , physics and chemistry are given

below?
Subjects Mathematics Physics Chemistry
Mean 42 32 40.9

8.0 12 15 .20

which of the three subjects the highest
variability in marks and which shows the

lowest?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ak3m6QBJc6BZ
https://dl.doubtnut.com/l/_WhcoQe62Ff4u

60. The mean and S.D. of a group of 100
observations were found to be 20 and 3
respectively. Later on its was found that three
observations were incorrect which were
recorded as 21,21 and 18 find the mean S.D. if

the incorrect observations were omitted.

o Watch Video Solution



https://dl.doubtnut.com/l/_oreMQD0GQ9E6

